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Instructions:
EZ4AA:
Z 4 MA:

> Question number 1 to 20 are of short answer type.
F1E20BHREEE.
F1E20BHREE-,
> Each question carries 10 marks.
BEE109,
BRE L1029

The sum of all positive factors of 25 is
5B ERF 22 0
5B ERF 22 0

E2

&)


mac


2)
If B x 7/5 = 3, then B is .
£Bx7/5=3, ;iEBR o

£Bx7/5=3, BB4BRE o

What percent of 800 is 1207?
800 MZ LA B 21207

800 WZ L HED LR 1207

If 12/20 = x/5 and 9/y is 3/5, find x and y:
£12/20 = x/5 M 9y is 3/5 , FHH HxHy,

£12/20 = x/5 M 9y is 3/5 , iEH HxHy,



5)

The ratio of boys and girls in a school is 5:2. If there are 150 boys, find the
number of girls in the school.

—FIERNBLLHIRS2, REZBERBI150REE , FHRURBRLKLIE
=

—FIERNBLLAIRS2, BEZFRE1508 B , BHRHZFRZLIE

The length, width and height of a water tank is 12m, 15m, and 18m
respectively. Find the capacity of the tank.

—EXEINRE. MENSEDBR12K, 15KFM18K, BHREBRKINE

fein

o

—ANKEHKE., AENSESAR122K, 15KM18K, BREZKINE



7)

Every natural number except 1 has atleast ______ factors.
fR1z , BEBREELE_ KF.

fR1z9 , B rBRBELE_ FF.

A bus arrives at the station every 15 minutes. If the first bus arrives at 6:00AM,
what time will the 8th bus arrive?

—WELE157ESIE Y, EX1RELER LORFRESELR  FEE
SHEE T AT ERHMREER ?

—WBEBI55 MR-, HE1HETER LEIBEEER | BHESE

8B Lt 2HEM ARMREELE ?

A rectangular prism has dimensions of 4 cm by 5 cm by 6 cm. What is the
total surface area of the prism?

—ERAEBHRTRIER x 5EXK x 6EXK, FRAXEEBNRERAERES
)

\\

"/

?

— PN RAREAEHRTR4ER x 5EXK x 6EXK, HEZEANEREAERRS

\>
N}



A man sold 50% of his land. He gave half of the remaining portion to his son.

What portion of the total land is left with him?

— BB FEH T M50%/YH, LR T —FIETHNR T, FRMER
BRANMNZ DS ?

— BB FEH T M50%M b, MIERTAM —F4L THNILF. BRER

BEHANMBNZ DS ?

11)
The price of a book increased by 20% and increased by another 10% to $63.
What was the original price?

—ARENERERAT20% , BRATI10% , ZEEER$63. BEMEAEFRR
MEERZD?

—RHRHMEERA T20% , BRAT10% , REAENR$63. & FEBAFRFK

MENEZD?



12)

Three bells ring at the interval of 10, 15 and 20 minutes respectively. The
three bells ring together at 12:45 PM at what time will they ring together next?
B={EiE , ef7BE1008E, 150 ER205EE —R, B=AERFE FF
12:458, FREMM T —RERENKFERAE ?

B=A, eM2318100%, 152 %2054 —R, B=MHENETF

12:450a, & @41~ — % [E 6t i B4 B Rl 2 AT A 2

13)
Find the smallest number which is divisible by 27, 45, 60, 72 and 9.
Ik HBEMR27, 45, 60, T2HOERNFZNEF

FHHBEM27, 45, 60, 72MOEERKI R/ NEF,

14)
1 kg of milk has 0.352 kg of fat. How much fat is there in 20.5 kg of milk?
14580352 F IS , 820,54 F 4 & B S DIl 2

1N IE0.352 T iERs |, BIRI20.5A 4 HEEZVRER ?



15)

Bucket P can hold 9.84 L of water while bucket Q hold 1.125 L more water
as compared to bucket P. How much water can bucket Q hold?
MPA2£9.84FK , MAAQLLABPRI £ 48£1.125F 7K, BRMQAESZ DK ?

MPT[3£9.84F K , MEQLLMMPRI 2% 1.125F K, BRIFQAIZEZ DK ?

16)
A =25210.35, B = 275.3 and C = 45. When A is divided by C and the quotient
is added by B, we get

A =25210.35 B=2753 % C =45, EAECBKRIEINLB , ZXEXE

o

A =25210.35 B=275.3 % C =45, YABCHRNEINLB , X2

17)

How many unique rectangles can be drawn with 24 cm as perimeter, given
that the length of sides are positive integers?

BRAEXRBAR  HASERAFENERERERY , FRASLOFTRANRAET
WEH ?



LRABKABR , ERSMKATENKERERY , SRSIFEANKIET

18)

A cuboid measuring 10 cm by 2.5 cm by 5 cm has the same volume as a cube
with length x cm. Find x.

—10EXEK , 25EKE , sSEXRGHRAIBE—XxEXRNESENEERAS
B, AR Hixo

—10EXK , 25FEKA , sSEREHNKEARE —XERKNIEFENERZASE

Y. HHHixo

19) Identify the twin primes.
REHUATHEEREE R,

B AT HAR FEERL,



20)

Emma practices the piano for 45 minutes each day. How many hours will she
practice in 10 days?

FTRESRRTSPERE, FRALTRERBELS NKRZ?

FESREIS5DHNE, BRM+REEI LS PDEHNEZ?

END OF PAPER



